282 Chapter 6 Review
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19. Let u= e dv = sinx dx
du = 3> dx y = —COS X
fe3" sin x dx = —e>* cos x + IS cos x % dx
Integrate by parts again.
Let u = 3¢>* dv = cos x dx
du = 93 dx y =sinx

—e cos x + 3¢ sinx ~ J9e3" sin x dx

10fe3x sinx dx = —e>* cos x + 3¢¥sinx + C
J Fgnxdx = —16[—e3" cosx +3e¥sinx] + C
— 3ginx _ COSX 4 C
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20. Let u = x* dv = e ¥ dx
du = 2x dx y = —-é—e‘h
fxze_f”‘ dx = —lxze“3x + g_l_eﬂxxdx
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Tlet u =x dv=e ¥ dx
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24. L. csc 20 cot 26
de

dy = csc 28 cot 20 dO

f dy = f csc 20 cot 20 da-)7

y = -—%cs029+C
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